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QUESTION 1

In the diagram provided for this question, the wireless user\\'s laptop is associated with an Aruba AP in 

tunnel forwarding mode. The AP terminates on the local controller. 

When the client transmits, where will the 802.11 headers be removed? 

A. AP 

B. L2 Switch 

C. Router 

D. Local Controller 

E. Internet 

Correct Answer: D 

 

QUESTION 2

Referring to the above screen capture, if an administrator desires to change a specific AP into a Spectrum Monitor
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withoutassigning the AP to anew group, which menus could be used? 

A. Network > Controller 
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B. Wireless > AP Configuration 

C. Wireless > AP Installation 

D. Advanced Services > Wireless 

E. Wizards > WIP Wizard 

Correct Answer: B 

 

QUESTION 3

A campus AP has been provisioned with a VAP in bridge forwarding and standard operation modes. Which of the
following authentication types are supported? (Choose two) 

A. 802.1X authentication 

B. Open System authentication 

C. Local authentication 

D. Captive portal authentication 

E. VPN authentication 

Correct Answer: AB 

 

QUESTION 4

A Remote AP provisioned in "Split-Tunnel" Forwarding mode has which characteristic? 

A. Local traffic first goes to the controller and is then spilt back to the local network. 

B. Traffic is IPSec encrypted before it is sent to the controller. 

C. The user role must have a "Permit" statement in order to locally bridge the traffic. 

D. The user role must have a "route dst-nat" statement to locally bridge the traffic. 

E. The RAP uses PAPI to send data traffic to the controller. 

Correct Answer: B 

 

QUESTION 5

(group8) #show ap arm history ap-name AP1 Interface :wifi0 ARM History 

Time of Change Old Channel New Channel Old Power New Power Reason -------------- ----------- ------------------- ---------
------ 2015-1-28 07:58:53 157+ 149+ 21 21 I 2015-1-28 07:52:06 149+ 157+ 21 21 M 2015-1-28 07:16:59 157+ 149+ 21
21 I 

Latest ACMP_6.4 Dumps | ACMP_6.4 VCE Dumps | ACMP_6.4 Practice Test                                4 / 5

https://www.pass2lead.com/acmp_6-4.html
https://www.pass2lead.com/acmp_6-4.html
https://www.pass2lead.com/acmp_6-4.html


https://www.pass2lead.com/acmp_6-4.html
2024 Latest pass2lead ACMP_6.4 PDF and VCE dumps Download

Interface :wifi1 ARM History 

Time of Change Old Channel New Channel Old Power New Power Reason -------------- ----------- ------------------- ---------
------ 2015-1- 28 08:52:53 6 1 21 21 I Referring to the output above. What can you conclude about AP1? 

A. This device is scanning channels. 

B. This device is unstable because the channel assignment changed. 

C. The device changed channels recently. 

D. The device changed channels and power levels recently. 

E. The device is transmitting at maximum power levels. 

Correct Answer: C 
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